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READING PASSAGES OF PRETEST AND POSTTEST

ClassNumber

feead v passages carclully and then choose the best answer.

Noisz 15 & sound that 15 unwanted, disagreeable, and disturbing. The world and its cities
steadily grow notsier, Public health doctors and specialists in hearing disorders use term “noise
pollution™ 1o describe the menace of prolonged unpleasant sound.

o centuries, noise has been a muisance. Sclendist and physicians have gathered evidencs
showing the effzcts of excessive noise. Besides a temporary or permanent loss in hearng acuir.
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Cobiatiens are the souree of all sounds. soind waves wavel outward i ail directions from tr .

vibrating o ovt as exarmple w londspeakey or the trbulent gas of o jet engine 2xhaust, Generally, t

5% comie U8 as waves uosceond. The loudness ar softhess of "he sound that we hie
i oanpditude with w heoln the vibrations rsacty cur ears, Generaliy, ine zrzaier the mfens.

G e sounad wave, the louder that sound seemn to us.

it hearing ioss caused by prolonged exposure to excessive noise, the high fraquency ceii-
wear out first. A person may not realize for some time that he is no longer hearing high-pitched souri
well. If excess noise continues, the middle frequency cells wear out next, and finalty the low frequency

cell

S

Taken trom: Penuntun Belajur
| Bahasa Inggris !
1. Whatisnoise? Lis ... ™
¢ o osouid that 18 produced by man
Do shadvy SGUIG
¢ oscierd had people want o hear
d. e source of aid sounds |
2 -Irecien think i may also be responsible for some illness™ (paragraph 2, line &
T wederhined word vefvig ro L
a. a temporary loss C.  MNErvousness
b. noise d. fatigue
3. The second paragraph tells us about ...
a. the effects of noise

. e

b. the cffort of scientists and physicians to examine noise



c. lossing in hearing acuity caused by noise
d. how noise can hinder concentration

4. The volume of the sound depends on the ...
a. vibrations
b. sound waves

noise

o

d. sound amplitude

5. How many kinds of cells are there in our ¢ars?

a. one
b. two
c. three
d. four

6. The best title for this passage is ...
a. The Dangers of Noise
b. The Source of Noise

How can Scund Reach Our Ears?

o

o

Noise Pollution

TextII

The atmosphere is-composed mainly by oxyveen and nitrogen gases, together with water
vapour and smaller amounts of carbon dioxide, and other gases. But the air contains small amounts of
impurities. These impurities are usually in such small amounts that are not so important.

Air 1s said to be polluted when 1t contains enough harmful impurities or pollutants which
affect the health, safety, or comport of living things. They could be tiny particles of matter or gases not
normally found in air. Polluted air can harm animals as well as man. For this reason, our air supply
should be ¢losely watched and managed to assure its good quality.

The main types of air pollution are natural pollution and pollution caused by man. Natural
pollutants are windblown dust, pollen from plants, fog, and the like. Acts of nature such as these are
often beyond human control.

The pollution caused by man is a iore serious type of air pollution. Most of this pollution is
produced by industry and by vehicles such a car, trucks, and aeroplanes. It becomes worse as society
becomes more industrialized — as more automobiles are driven, new factories are built, and existing
factories are expandad.

The exhaust from vehicles in city traffic fill the air with exhaust gases. Smoke from cigarettes

can pollute the air in a closed room. Sometimes, factories activities creates chemicals waste that



evaporate into the air. So, smoke from power plants and factories enter the atmosphere at higher
levels.

The damage caused by air pollution is enormous. Many flower and vegetable crops get iil
effects by car exhaust gases. Tree have been killed by pollution from power plants. Cattle have been
poisoned Ly the fumes from factories. Air pollution causes rubber fyres on automobiles to crack and
becomss porous.

But the high cost of air pollution is most stnkingly illustrated in its damaging efiects on
human bodies. Air pollution causes eye irritations, scratchy throasts, and respiratory illnesses. It aiso
contributes to a number of senous diseases.

Adapted from: The New Book of
Knowledge, 1984
Grolier Incorporated.

7. Pollutes air 1s air that ...
a. is composed mainly by oxygen, nitrogen. carbondioxide, water vapour, and
other gases.
b. Contains small amounts of impurities.
¢. Is just produced by vehicles and industrv.
d. Contains dangerous pollutants.
8. “They could be tiny particles ...” (paragraph 2, line 8)

The undsitined word refers to ...

a. air ¢ living things
b. impurities d. gases
" 9. The fourth paragraph tells us about ...
a. the main types or air pollution ¢. the process of air pollution
b. the pollution caused by man d. the effect of industrialization

10. Where can you find the effect of air pollution? In paragraph ...
a, three c. five
b. four d.  six
11. This passage is concerned with ...
a. air pollution ¢. the dangers of air pollution
b. the types of air pollution d. how air pollution occurs
12. The sources of polluticn caused by man come from these things, except ...
a. dust ¢. motorbikes

b. power plants d. cigarette smoke



13. One of these statements is not the dangers of air pollution, that is ...
it causes respiratory illness
b. it affects our health and hearing
¢. it poisons many animals

d. it may Kill many plants,

Text III

The Toraja are descendants of immigrants who entzred Indonesia a long, long time ago from
South China. Thev believe in ancestral worship, and one of the customs that 1s still practised today 1s
the “death feast”. A deceased person is not burmied immediately, but kept in a coffin called
“tongkonan™ for as long as two years. The corpse 1s treated as though still among the living and
offered foed and drink. This practice comes to an end only when the burrial ceremonies have taken
place.

The preparations for a funeral take along time and cost a lot of money. People need at least
one year to prepare the “death feast™ and to notify the relatives about the forthcoming ceremonies.
These belonged to, because only the members of the top and second classes are entitled ro the most
elaborate funeral ceremonies. On the other hand, members of the lowest classes are not permitted 1o
held such ceremerues, even though they mayv have reached high positions 1 society dunng ther
lifetines.

The Torzja society recognizes three social classes, namely: the highest ¢lass or “tokapua”, to
which belong tie landiords and people i traditional leading ship position; the second ciass o1
“tomakake”, to which belong to smalier landowners and people in middle class position; and the
commen people of “tobuda”, to which belong the manual workers and the share — cropers. The highest
class makes up 5% the second 25%, and the iowest 70% of the population, which according to the
1972 census numbered 316,986,

Taken from: ENGLISH 1,
Tim Penulis Bahasa Inggns
14. this passage is concerned with ...
a. the tourist resort ¢. the “Death Feast”
b. the religious custom d. Tana Toraja
15. A lot of tourists come to Toraja because they want to see ...
a. the unique people ¢. the beautiful scenery
b. the traditional houses d. the death ceremony
16. What does the word “this” in line 7 refer to?
a. the death feast ¢.  Tongkonan

b. a deceased person d.  the corpse



17. The main idea of the second paragraph is ...
a. the practice of “death feast”
b. the requirements needed to hoid the “death feast”

the Tofaja society

o

2

the top and middle classes of the Toraja society
18. These persons below may hold the “death feast”, except ...
a. avery rich farmer c. areligion leader
b. alandowner d. a person belonging to “tomakako”™
19. According to the census 1972, the number of the Toraja who belongs to
“tokapua” is about ... people.
a. 15.000 c. 95.000
b. 80.000 d 220.000
20. The Toraja’s ancestors come from ...
a. Malaya ¢. North Sulawesi
b. Central Sulawesi d. South China



READING COMPREHENSION PASSAGE
FOR TREATMENT1

AMUSEMENT

he Indonesian people are proud of their ancient customs. Huge crowd gather
1o see and watch a ritual ceremony. It 1s the Sekaten festival, which is celebrated on
the 12" day of the Arabic month Rabi’ul-awal It is always celebrated to
commemorate the birth of the Prophet Muhammad. The festival involves splendid
procession,:in which two rice mountain, or ‘gunungan’, are borne from the Palace to
the Great Mosque. They are male and female gunungan. The male gunungan has a
cone shape decorated with long beans, red and green chillies, and various other
vegetables. The female gunungan, whose shape 1s said to resemble the mallet of a
dJmvanese “eender” {bronze metallophone) is made up of hundreds of plares !
cluiiicns rice, The testival s celebrated is Surakarta and Yogyakaita.
widseurns and art galieries of national standing can Le found in Jakarta anc
other major cities, such as the Affandi Museum in Yoegyakarta, the H. Widayai
Musenan i Mungkid. two Kilometres from the fainous Borebudur Temple, and the
saiedia Nela Museurn i Ubud, Bali. The musical arts in Indonesia have won Asia s
acclaim. There is & naionaliy known symphony orchestra called Twilight Orchestra
which gives the performance in Jakarta.
Indonesia — made talevision and radio programme produced by the RRI-and

TVRI — the national radic and television network — are famous all over Indonesxa

Other notable programmes are produced by the Independent Television Authorm o

(RCTI - SCTV and ANTV).

The foreign and domestic 'touriste enjoy the seashore, and many coastal
rezorts auract thousands of people, especially on weekends. Towns like Pangandarar:
Pelabuhanratu on the south coast of West Java, and Kuta in Bali, also attract man:
foreign vigitors.

After watching the festival and procéssion, and after attending the exhibition
in the daviine, they usually feel tired. Some of them spend the time reading in their

Lol vocms, and some of them go to the might club to seek for pleasure. They g

there jusi for amusement, Taken from : Penuntun Béla_]ar
BAIIASA INGGRIS 1
by Drs. Artono War.dir@gn




READING COMPREHENSION PASSAGE
FOR TREATMENT II

AIR POLLUTION

the gases of the atmosphere cannot be seen. and we are ravely aware of them.
3ut thev are of the greatest importance. Without the atmosphere, people. animals, and
plants could not bive. O almost equal importance is the quality ot the atmosphere ov
civche b e s pure or petluted (meaning mpure).

A air contains smai amounds of impurities. In rural arecs. far remove from
tactories and heavy traffic, the air may contain polien from plants, dust from the soil,
and even bacteria. These impurities are it such small amounts that they are ot
important. V

Al is said to be polluted when it contain enough harmful impurities to affect
the health, safety, or comport of living things. The impurities or pollutants, could be
tiny praciicles of matter or gases not normally found in air.

When people breathe, pollutanis in the air may be deposited in the lungs or
steorbed mto the bedy and polluted 1a the lungs or absorbed into the body. And
cobiuted L2 van hane ancnais and plants as well as people. For this roason, owr avr
supphy Sonatd be slosely wicched and managed 1o assure its good -uainy

Lhere are two mam tvpes of ar pollution — naturai po*ation and poliution
caimed b woples Namralwpollutants are windblown dust, pollen tog. and the like.
there have been mstances when the ash from velcante eruptions has been blown
across large areas of the earth. Forest fires blanketed huge areas with smoke. Acts of
nature such as these ofien beyond human control.

The chief concern is the second and perhaps more serious form of air
pollution ““the pollution caused by people. Most of this pollution is produced by
industry and by vehicle such as cars, trucks, and aeroplancs. It becomes worse as
society becomes more industrialized — as more automobiles are driven, new factories
are built, and existing factories are expanded. Sometimes the work at factories create
waste chomicals that escape into air. Smoke from cigarette car pollute the air in

Cleesed reaam.

Taken from  Penuniun Belajar
BALIASA INGGRIS 1

by Drs. Artono Wardiman



READING COMPREHENSION PASSAGE
FOR TREATMENT III

NOISE POLLUTION

Noise is a sound that is unwanted, disagreeable, and disturbing. The world
and its cities steadily grow noisier. Public health doctors and specialists in hearing
disorders use term “noise poliution” to describe the menace of prolonged unpleasant
sound.

For centuries, nois¢ has been a nuisance. Scientist and physicians have
gathered evidence showing the effects of excessive noise. Besides a temporary or
permanent loss in hearing acuity (sharpness) constant exposure to loud noise can
cause nervousness and fatigue. Doctors think it may also be responsible for some
illness. But apart from its effects on health and hearing. noise mask sound that
people want to hear, hinders concentration and interferes with sleep.

Vibrations are the source of all sounds. Sound waves travel outward in all
directions from the vibrating object as example a loudspeaker or the turbulent gas of
a jet engine exhaust. Generally, the sounds we hear come to us as waves a second.
The loudness or softness of the sound that we hear depends on the amplitude with
which the wvibrations reach our ears. Generally, the greater the intensity of the sound
wave, the louder that sound seem to us.

In hearing loss caused by prolonged exposure to excessive noise, the high
frequency cells wear out first. A person may not realize for some time that he 15 no
longer hearing high-pitched sound well. If excess noisc continues, the middle
frequency cells wear out next, and finally the low frequency cells.

Taken from: Penuntun Belajar
Bahasa Inggris 1

by Drs. Artono Wardiman



PRE TEST AND POST TEST SCORE OF EXPERIMENTAL GROUP
(COOPERATIVE LEARNING)

PRF TEST POST TEST
No. 5 —
FQ | IQ | SMQ | MIQ | 8Q | Total | FQ | 1Q [ smq | M10 | 5Q | Totat
1 30 ] 20 0 L 20 5 75 130 [ 20] 10 15 [ 0] 85
2 0 | 10 10 5 5 so |2 5 15 15 5 60 |
3 25 151 10 115 5 70 1 30 [ 10 | 15 15 5 75
4 15 115 7 10 20 [ 10 ] 70 |25 |15 | 15 15 115 ] 85 |
5 15 s 1 s 10 5 60 | 25 1 10 | 15 15 5 0
6 15 15 | 13 15 5 65 | 15 [ 15 | 19 26 [ 10] 7
7 25 1 20 5 10 110 70 [25 207 15 15 | 10 | 80
8 2 10 [ 10 15 5 60 {25 |10 | 15 20 0 70
9. [ 25 10 13 20 5 75 12315 | 15 20 5 80
10 25 (201 5 20 | 10 [ 80 15 120 | 10 15 110 [ 70
11 is 207 10 10 10! 65 J 20157 10 20 [ 10 | 75
12 15 |10 | 15 5 5 50 f2 [ 5 | 15 15 5 60
13. 30 [ 20 0 20 |10 ] 80 130 ] 20 S | 15 115 ] 8
4. | 30 | 2 s 26 [ o [ 75 {3 [0 | 15 |15 T | 90
oIS, 13 115 s 15 |10 75 30 5 15 15 10 75
16 25 | 15 | 10 15 5 70 125 15[ 10 10 | 10| 70 |
t17_ 30 [ 10 113 10 [ 10| 75 §30 [ 151 15 15 [ 10] 8
18. | 1s 10?10 10 5 ! 0 120 [ 157 15 10 0 55
s 25 | 20 5 1w w70 s o 20 5 80
20 30 | 15 Vs 15 5 18 130 [ 15 ] 1S 10 | 15 ] 8
Tl 25 10T 10 20 |10 s 12 2] 15 20 |15 | 9
Fo22 20 T boas 0 T is 1 8 25 20 | 13 20 | 15 ] 95
L2 T30 s T8 0 10 | 90 130 |20 | 15 20 |15 100
24 15 ] 10 | 15 20 [ 3 1 6s 20 ) 15 10 15 [ 15 [ 70 |
25 10 | 15 | 13 15 | 5 oC {10 | i0 | 13 10 |10 55j
z6 10 [ i5 | I3 10 5 55 s |'s 15 15 5 435
kL 25 (157 15 10 (10 7571 30 1726 110 15 110 | 8
28. 2 10 [ 10 10 |10 60 {20 [15 Q 10 5 50
2. 10 [ 10 | 1s 10 | 10| 5 [ 15 [ 20 ] 13 5 (10 6 |
30. 20 1100 10 15 [ 10 | 65 P25 [ 10 [ 15 15 5 70
D 20 [ 10 | 10 15 5 60 | 20 | 15 | 15 5 10 | 65
D 25 100 15 20 5] 8 Jas [0 10 15 1 10 | 80
|33 120 | 15 ] 15 20 51 8 130 |20 15 15 [ 15 | 95
34, 25 [ 1o | 15 20 1o 80 {30 [15] 15 20 [ 10 | 9
3s, 20 [ 1o 10 22 10 70 J15 ]S 13 15 | 10 | 60
36. 15 110 | 13 15 5 60 |20 10| 15 20 |10 [ 75 ]
37. 15 120 | 10 | 10 | 10 | 65 120 | 10 | 10 20 [ 10 ] 70
| 3% 5 10 10 10 5 20 110 |5 15 10 110 [ 50
39 10 15 10 10 [ 10 ] 45 2 | 15 5 10 [ 10 | 60
40. 1 20 | 15 1 35 20 10 1 80 25 115 15 20 10 [ 85
! TOTAL Lm 2965
L -



THE CALCULATION OF T-TABLE IN TOTAL QUESTIONS

] No. Pre Test | Post Test D D
: X (Y) (Y-X)

1. 75 85 10 100
e 50 60 16 100
e 70 75 5 25

4 70 85 15 225

s 60 70 10 100

3 65 75 10 100

- 70 80 10 100

53 60 70 10 100

) 75 R0 5 23

10 80 70 ()10 100

1L 65 75 10 100

12 50 60 10 100

13 80 85 3 23

i 75 90 15 223

05 75 75 0 0

i5. 70 70 0 0

7. 73 83 10 100

i 50 35 3 25

9 70 80 10 10G

0 80 &5 3 23

o 85 90 5 25

22 30 95 15 223

hEY 90 100 | 10 100

1T 65 N 23

s 60 < IS 25

23 55 s 1 a1 100

z- 75 85 | 10 00

8. 00 50 1910 GO
) 35 65 | 10 100

W 63 70 5 33

31 60 65 | 3 5 .

32 85 80 i35 25

33 83 95 10 160 !

31 30 9 10 160

33 70 60 | (-10 100

36 60 73 15 25

37 63 70 3 25 -

38 40 50 10 100
e 45 60 15 225
1 80 g5 3 5
| Total | 2725 2965 290 3450
|
— 10
CRata- |0y 7413 - 25
| rata
| SD 6.3




TEST OF HYPOTHESES :

1. Ho : pA = uB there is no difference between post test and pre test
Ha : pA > uB score of post test is greater than pre test

2. t-test, whére db=n-1=39
t (.05) = 1,684

3. Calcalation for t-cbservation :

_ SD
D= Z =725
n

2 2
. n.ZD! - (ZD) 63
\ ni - 1)
_ D
S/n

t =17,27%

4. Conclusion:
Because t observation = 7,279 > 1 (0,05), Ho 1s rejected.

Hence, we conclude that at a 0,05 level there is a significant difference between

pre-test and post-test.



THE CALCULATION OF T-TEST IN FACTUAL QUESTIONS

No. Pre Test i Post Test D

DZ
X) Y) (Y-X)
1. 30 30 0 0
2. 10 20 10 100
2. 25 30 5 25
A 15 25 10 100
5. 15 25 19 100
6. 15 15 0 0
2 25 25 ) 0
8. 20 25 5 25
9, 25 25 0 0
10. 25 15 (10) 100
11. 15 20 5 25
12. 15 20 5 25
13. 30 30 0 0
14. 30 30 0 0
15. 30 30 0 0
16. 25 25 0 0
17. 30 30 0 0
18. 15 20 3 25
19. 25 25 0 0
20. 20 30 0 0
D 25 20 (5) 25
22. 20 25 3 I 25
23 30 30 0 | 0 1
24, 15 29 5 25
25 10 m 9 0
26. 10 5 iy 25
27. 25 30 3 25
28, | 20 20 0 U
2. 1 10 15 5 25 |
30. 20 23 s S
31, 20 20 0 0
32. 25 25 0 0
33. 20 30 10 100
34 25 30 5 25
35. 20 15 (5) 25
36. 15 20 5 25
37. 15 20 5 25
38. 5 10 5 25
39. 10 20 10 100
40. 20 25 5 25
Total 810 910 125 1050
n 40
Rata- | 54550 22.75 3125
rata
SD 521




TEST OF HYPOTHESES :

1. Ho : uA = uB there is no difference between post test and pre test
Ha : pA > 1B score of post test is greater than pre test

t-test, wheré db =n-1=39

t(.05) = 1,684

N

3. Calculation for t-observation :

t= DJ_ =3,792
Siain
4. Conciusion:
Because t observation = 3.792 > { (0,05), Ho is rejected.
Hence, we conciude that at a 0,05 level there is a significant difference betweer

pre-test and post-test.



THE CALCULATION OF T-TEST IN INFERENCE QUESTIONS

No. Pre Test | Post Test D D2
X (Y-X)
1. 20 20 0 0
[ 2 10 5 (5) 25
3. 15 10 (5 25
4. 15 15 0 0
5. 15 10 (5) 25
6. 15 15 0 0
7. 20 20 .0 0
8. 10 10 0 0
9. 10 15 5 25
10. 20 20 0 0
11. 20 15 (5) 25
12. 10 5 (5) 25
13. 20 20 0 0
14, 20 20 0 0
15. 15 3 (10) 100
16. 15 15 0 0
17. 10 15 3 23
18. 10 15 5 25
19. 20 20 0 0
20. | 15 15 0 0
21. 20 20 0 0
22. 10 20 10 100
23, 15 20 3 25
24, 10 15 5 25
25 15 10 (3) 25
26. 15 5 {0y | 100
27. 15 20 5 [2s
28. 10 15 5 25 |
| 29 10 20 10 100
L30. 16 10 0 0
31 10 15 5 25
32 10 20 10 100
| 33. 15 20 3 25
34 10 15 5 25
3s. 10 5 (5 25
36. 10 10 0 0
7. 20 10 (10) 100
38. 10 5 (5) 25
39. 5 15 10 100
40. 15 15 0 0
Total 550 570 90 1150
n 40
Rata- | 4 7 14,25 225
rata
SD 4,93




TEST OF HYPOTHESES :

1. Ho : pA = uB there is no difference between post test and pre test
Ha : pA > pB score of post test is greater ihan pre test

2. t-test, whcfé db =n-1 =39
t{.05) = 1,684

3. Calculation for t-observation :

— D
D:Z =225

-ty

i
2 2
5 /H.ZD, (ZD) 493
\\ n(‘nml)
= D_:2,884
S!f\/fl

4. Conclusion:
Because t observation = 2,884 > 1 (0,05), Ho is rgjecied.
Hence, we conclude that at a 0,05 ievel there 1s a significant difference between

pre-test and post-test.



THE CALCULATION OF T-TEST IN SUBJECT MATTER QUESTIONS

No. Pre Test ;| Post Test D 2
(N) {Y) (Y-X)
1. 0 10 10 100
2. 10 15 5 25
3. 10 15 5 25
4. 10 15 5 25
5. 13 15 0 0
6. 13 10 i) 25
7. 3 15 10 100
8. 10 15 3 P25
9, 15 15 0 0
10. 3 10 3 25
11. 10 10 0 0
12 1 13 13 0 0
13. ] 3 3 25
14, 3 15 10 100
15, ¢ 3 15 10 100
16 10 10 0 0
AT 15 0 0
18, | 10 13 3 25
19. 3 10 s 25
20 13 15 0
21, 10 15 5 P25
S is o 0
23. . I 15 ' 0
24. 15 10 i3 23
2., 15 T s 0 0 |
6. 15 1y 0 0
27. 0I5 10 ™ 25
28 | ic 0 | {1C) 160
29 s T 05 0 1 0
300 F w15 3 EE
3l. 10 15 3 25 -
2. 15 10 5 23
33, i3 15 0 | 0
34, i3 15 G i 0
35 10 i3 3 s
36. 15 15 0 E 0
37. 10 10 E 0
38. 10 15 3 .25
39, 10 5 (3 .25
40. 15 15 0 0
Total 145 515 105 250
Poon | IR
Rata- | ;a5 | 12875 | 2625
rata
SD 416




TEST OF HYPOTHESES :
1. Ho : pA = uB there 1s no difference between post test and pre test

Ha : pA > uB score of post test is greater than pre test
2. t-test, where db = n-1 = 39
t(.05) = 1,684

3. Calculation for t-observation :

— D
D= 2 = 2,625
n
["'Z D? - (Z D)2
8= : =416
\‘ n(n-1)
D
t= =3,989
S/n

4. Conclusion:
Because t observation = 3,989 > t (0,05), Ho is rejected.

Hence, we conclude that at a 0,05 level there is a significant difference between

pre-test and post-test.



THE CALCULATION OF T-TEST IN MAIN IDEA QUESTIONS

No. Pre Test | Post Test | D

2
o | o fox P
. 20 15 () 25
2. 5 15 10 100
3. 15 15 0 0
4. 20 15 (5 25
5. 10 15 5 25
6. 13 20 5 25
7. 10 15 .5 25
8. 15 20 3 25
0. 20 20 0 0
10. 20 15 (5 25
11. 10 20 10 100
12. 5 15 10 100
13. 20 15 1 05 25
14. 20 15 (5) 25
15. 15 15 0 0
16. 15 0 | 3 25
17. 10 13 5 2
18. 10 10 0 0
19. 10 20 10 100
20 | 15 10 (5) 25
21. 20 20 0 0
22, 20 2 0 0
23. 20 20 0 0
24. 20 1s 1 (9 25
L 25 | 15 19 {3 25
26 N 3 25
27. w15 . 5 25
% 0 . 100 0
2o 10 1 s T B 25
3. 15 15 0 0
3l. 15 5 (10 100
32. 20 15 (5 25
33. 20 15 (5) 25
34 20 20 0 0
35. 20 15 (5) 25
36. 15 20 | s 25
37, 10 20 10 100
8. 10 10 0 0
39, 10 10 0 0
40. 20 20 0 0
Total 590 605 90 1125
n 40
Rata- | -5 | 15125 225
rata
. sD 4,36




TEST OF HYPOTHESES :

1. Ho : pA = pB there is no difference between post test and pre test
Ha : 1A > uB score of post test is greater than pre test

2. t-test, where db =n-1 = 39
£ (.05) = 1,684

3. Calculation for t-observation :

— D
D:Z =225

n ’

’n.z D* ~ (ZD)2 - 4386

B \f nln—1)

t

= =2,929
Sidn

4. Conclusion:
Because t observation = 2,929 > t (9,05), Ho is rejected.
Hence, we conclude thai at a 0,05 level there is a significant difference between

pre-test and post-test.



THE CALCULATION OF T-TEST IN STRUCTURAL QUESTIONS

No.

I Pre Test

Past Test

D

5}

x) | X D

1. 5 10 5 23
2. 5 5 0 0
3 5 5 0 0
4. i0 15 5 25
5 5 5 0 0
6. 5 10 3 25
7. 10 10 S0
8. 5 0 (5) 25
Q. 5 5 0 0
10. 10 10 0 0
11 10 10 0 0
12. 5 3 0 0
13. 10 15 3 23
14, 0 10 10 100
15. 10 10 0 0
16. 5 10 5 25
17. 10 10 0 0
18. 5 0 (5 25
19. 10 5 (5) 25
20. 5 15 10 100
21. 10 15 3 25
22. 15 15 0 0
23. 19 15 5 25
24. 3 15 10 100
25 | 3 10 5 25
26. 5 3 i) G
27, 10 10 0 0
22 ] 10 5 (5) 25
29. 10 10 R 0
30. 10 3 s 23
3. 5 10 5 25
32. 15 10 (3) 25
13, 15 15 0 0
34. 10 10 0 0
35 10 10 0 0
36. 5 10 5 25
37. 10 10 0 0
38 5 10 5 23
39. 10 10 0 0
40. 10 10 0 0

Total 320 375 85 725
n 40

Rata- | ¢ 459 9,375 2,125

rata

SD 3,74




TEST OF HYPOTHESES :

1. Ho : pA = puB there is no difference between post test and pre test
Ha : pA > puB score of post test is greater than pre test

2. t-test, where db =n-1 =39
t(.05)=1,684

3. Calculation for t-observation :

) 2
> DT - D
IO 20)

= ) _
\. nin—-11

4. Conclusion:
Because t observation = 3,595 > 1 (0,05), Ho is rejected.
Heuce, we concluds that at 2 0,03 level there is a significant difference between

pre-test and post-test.



POST TEST SCORE OF
EXPERIMENTAL GROUP (CL) AND CONTROL GROUP (NON CL)

EXPERIMENTAL GROUP CONTROL GROUP
No. | (COOPERATIVE LEARNING) | (NON COOPERATIVE LEARNING)
TOTAL SCORE TOTAL SCORE
1. 85 75
2. 60 g0
3 75 65
4. 85 70
5 70 70
6. 75 70
7 80 80
8 70 7
9, 0 . 50
10. 70 65
11 75 55
12. 60 60
13. g5 60
14 a0 85
15.° 75 ! 73
16. 70 { 70
17, ) 85 L 60
18. | 55 45
19. 80 55
20. 85 i 60
21. 9C R R0
27, 95 i 63 - ]
23. 100 ] 70 i
24| 7 i 65 ‘
25, | =S ! 70 |
2. | 45 H 65
27. 85 05
28, 50 ! 60
29. 65 F 80
30. 70 80
3l 63 05
32 80 g 60
3. 95 70
34, 90 80
35. 60 60
36. 75 70
37. 70 60
38) 50 | 85
39, 60 [ 65
40 85 73
TOTAL 2965 ) 2780




THE CALCULATION OF TWO MEANS TEST IN TOTAL QUESTIONS

COOPERATIVE LEARNING | NON COOPERATIVE LEARNING
No.
XA CA xB B
1. 835 7225 75 5625
2. 60 3600 g0 6400
3 75 5625 65 4225
4. 85 7225 70 1900
5. 70 4900 70 4900
6. 75 5625 70 4904
7. 80 6400 80 6400
g. 70 4900 70 4900
9. 0 6400 90 8100
10. 70 4900 65 4225
11. 75 3625 35 3025
12. 60 3600 60 1 3600
13. 85 7225 0 ‘ 3600
14. 90 8100 85 7225
15. 75 5625 75 5625
16. 70 4900 70 4900
17. 85 7225 60 3600
18. 35 3025 45 2025
i9. 80 6400 55 3025
20. 35 7225 60 3600
2. | 90 8100 20 6400
|22 | 95 9025 65 4225
23 100 10000 70 4900
24. 70 4900 63 4225
25 33 3025 I 4900
26. 45 2025 65 4225
27 835 7225 95 9025
28. 50 2300 60 3600
29. 65 4225 g0 6400 |
30 70 4900 80 6400
31 65 4225 65 4225
32 80 6400 60 3600
33. 95 9025 70 4900
34. 90 8100 80 1 6400
35, 60 3600 60 3600
36. 7 5625 70 4900
37. 70 4500 60 3600
38. 50 2500 85 7225
39 60 3600 65 4225
40 85 7225 75 5625
TOTAL 2965 226875 2780 197400
n 40 40
Mean 74,13 i 69,5
SD 13,49 10,36




TEST OF HYPOTHESES :

1.

(3

4.

Ho : mA = mB, there is no difference between the means of the groups.

Ha : mA > mB, mean score of group A is greater than mean score of group B.
t-test, where df.f =nA +nB-2=78

£(.05) = 1,671

Calculation for t-observation (to) :

A : Cooperative Learning (Total Questions)

- x
x:Z =7413 ;n=40

n

fnz x* - (.Z x)~ =13,49

|

S= - \
\ n(n -1)

B : Non Cooperative L earning { Total Questions)

Z:“\.:6955 n =40

X =

7
In> x> - (> x)
= 4 2 ; (Z\: ) =10,36
\ nrn-1)
o= S 1721
jind - 1)S*4+{nB-1)S*B{ 1 . 1
\ nd +nB -2 l\ nd nb;
‘Conclusion:

Because t observation (to) = 1,721 <t {.05), Ha is accepted.
Hence, we conclude that the difference between groups is significant and
cooperative  leaming can improve the student’s reading comprehension

achievement better than non cooperative leaming.



THE CALCULATION OF RELIABILITY KR-21

No. X X
1. 19 361
2, 15 225
3. 16 256
4, 9 81
5. 16 256
6. 1 12 144
7. 14 196
g | 14 196
9 | 12 144
0. | 8 64
1. ! 10 ? 361
120 0 19 . ‘ 361
13, 15 225
4. 15 225
15. j 17 289
16. ¢ 18 324
17. i 13 169
18. : 9 31 ]
19. | 12 144 L
20 | 19 361
21 17 289
22 , 16 256 ;
25 10 100 :
24 13 169 j
25 18 324 !
26 i8 , 324 !
27 14 ; 196
T i | 196 :
L2900 11 3 121 |
C 30, 8 ; 54 ’
31 15 | 25
32 17 289 !
33 10 5 100 i
34, 18 ' 324
s 18 ; 324
6. 13 ; 169 :
37 13 s 169 !
38 1 ; 121 |
30. 17 ! 289
| 10 t. 100
f i
TOTAL 572 “ 8612 7
J i
n_ 40 ]
Mean 14,3 i
{_¥var., | 11,087 |




M:&:MB
n

N 2
o 2 -(+) = 11,087

1

K=20

KR-21 FORMULA
MK M)

r=1 A 0,633
where: r = Reliability
n = Number of subjects
M = Mean
V = Varance
K = Number of items
X = Number of correct answer

r table = 0,316

Because 1 greater than r tabie, so the test is reliabie.



THE CALCULATION OF DIFFICULTY INDEX

AND DISCRIMINATION PGWER

Item . T . ]
Number Difficulty Index Discrimination Index
30 -
1. AV = —=0,750 p=223 =040
40 10
3 _
2. FV:—1=0,775 :J_E:o,so
40 10
3 —
3. FV:—E:O,SO D=E--6—={},40
40 10
rQ —"
L4 Fr="52010 p=20"2_0g0
L 40 16
- KR _
s, Fir =22 = 0875 p=10"8_44
0 10
0. Ff’:iE:D,QO D= 10'8:0_20
40 10
" .
7. =200 =223 060
40 10
28 10-13
8. Fr=—=0,70 - D=——"=0,70
40 10
_i _
9, Fr =222 om0 p=2"%_040
0 i 1
a7 10~
i 19. F7 = 2= 0,675 e |
40 10 ‘
1
2 -6
11. =070 p=2""=g30 |
40 1 10
| 1 ‘ 6-1
| 1? ' 7(«':—1-:0,:75 ‘ D=2_"=050
, | 10 : 10
1 - l ] :
: 13, i Fii= ll_ =0,275 - ‘ D="""=0730
10 10
, 28 9-4
14, Fr=""=97 D=2_"=050
40 10
I
15. V=12 -0828 p=106 g0
3 10
'}7 _
TS =20 20,675 2=10"1_499
‘ 10 10
17 sy =% _ogs 2217 450
10 10
23 16-6
i 18. sp="=050 - p="""_ a0
| 10 10
i
il —
19. p/:;szojo :10_630‘40
10 10
- 7
20. Fr=2"-080 D:L—:O’ZO
40 | 10
Formula :
Jo% R correct answers
N number of testees -

_ correct U-correctL

n = number of students in one group



The criteria of level of difficulty (Heaton: 1979):

Index Difficulty(FV) Interpretation
.00 - .14 very difficult
A5 - .29 difficult

30 - .70 acceptable
g1 - 85 easy

.86 - 1.00 Very easy

The criteria of discrimination power (Harris: 1969):
Discrimination Index (D) Interpretation
-1.00 unti} +.19 low

+.20 until +.39 satisfactory
+.40 untif + 1.00 very effective



THE SUMMATIVE SCORE

TRY-OUT GROUP | EXPERIMENTAL GROUP | CONTROL GROUP
No.
I-5 I-8 I-3
I 6,1 6,3 59
2. 6,0 6.8 74
3. 6.8 8,9 5,0
4, 7.4 7,5 6,6
3 54 7.4 51
s 71 58 76
7. 8.5 7.1 8.4
8. 8.8 8,9 57
9] 41 92 8.2
10. 6.6 8.4 6.0
1. 7.0 73 6.0 }
12 5,2 53 5.9
13 6.2 5.4 6,7 !
14 5,7 71 70
15 8.3 5.0 6,4
16. 2.5 5,1 5.8
7 71 51 55
18, 0.6 6,0 50 ;
19, 58 4,1 7.1 |
20. 7.0 58 73 l
21 5,5 8.4 6,3 ‘
22 6.0 76 74
23. 8.8 8.8 7.4
| 24, 38 13 a7
25, 6.9 34 56 I
26. 80 42 6,1 .
27, 88 75 8.4 _
| 28, 6,8 6.3 54 ?
29, 45 58 88
30. 7.5 51 5,5
31. 8.7 53 77
32, 5.4 7 6,1
33, 47 6.8 b 5.9 B
34 8.3 6,2 _L 7.6
33, 7.6 4,7 51
| 36. 9.7 73 7.0
7. 76 41 5.7
38. 7.9 13 8,1
39, 6,5 7.0 6,2
| 40. 8,1 6,4 6,1




THE CALCULATION OF TWO MEANS TEST

CONTROL GROUP (I-3) TRY-OUT GROUP (I-5)
Mo.
xA TA xB B
1. 59 34.81 6,1 37,21
2] 7.4 54,76 6,0 36,00
.3 50 25 6.8 46,24
4, 6.6 43,56 7.4 54,76
5, 5,1 26.01 5.4 29,16
6. 76 57,76 7, 50,41
7. 8,4 70.56 8,5 72,25
8. 5,7 32,49 8,8 77,44
9. 8,2 67.24 4,1 16,81
10. 6,0 36,00 6.6 13,56
11. 6.0 36,00 7.0 19,00
12. 5,9 34.81 52 27,04
13. 6,7 44.89 6.2 38,44
14. 7.0 49,00 6,7 44,89
5. 6,4 40,96 83 68,89
16. 5,8 33,64 2,5 6,25
7, 5,5 30,25 7,1 50,41
18. 5,0 25,00 6,6 43,56
19, 7.1 50,41 58 33,64
20 73 53,29 7.0 1 49,00
21 6,3 39,69 6,5 ] 42,25
| 74 54,76 6,0 36,00
23, 7.4 54,76 8.8 77,44
24, 4.7 ! 22.09 3.8 14,44
25. 56 31,36 6.9 47,61
26. 6,1 37,21 8.0 64,00
27, 8,4 70,56 8.8 77,44
28. 5,4 29.16 6.8 16,24
29. 8.8 77,44 45 20,25
30. 5,5 30,25 7.5 56,25
3L 7.7 59,29 8,7 75,69
32. 6,1 37,21 5.4 20,16
33, 5.9 34,81 47 22,09
34, 7.6 37,76 83 68,89
35. 5.1 26,01 76 57,76
36. 7.0 49,00 8,7 75,69
37. 57 32,49 76 57,76
3R, 8,1 65,61 7.9 62,41
39. 6,2 38,44 6,5 42,25
40. 6,1 37,21 8,1 65,61
TOTAL 259,7 1731,55 270,3 1914,19
n 40 40
Mean 06,4925 86,7575
SD 1,0795 1,4990




TEST OF HYPOTHESES :

1. Ho : mA = mB, there is no difference between the means of groups.

Ha : mA # mB, there is a significant difference between the means of groups.
2. t-test, where dff=nA+nB-2=78

1 (.05/2) = + 2,000
3. Calculation for t-observation (to) :

A : Class I-3 (Control Group)

P Zl:6,4925 1= 40

n

IO 0 R
S= V n(n—l) =1079

B : Class I-5 (Trv-Out Group)

- X
x:z—:6,7575 n=40

71

' x;~ x\)z
5= 2 : = ~1,4990
\\ n{n-l)

xAd—xB

J(;z4—1)5?4+(nB—1)323{’ 1 10

'
HAS
i . JRE—

\ nd+nB-2 \nd nB

=-0,9G73

fo=

4. Conclusion:
Because / t observation / (to) = -0,9073 <1{.05/2)
so Ho is accepted.
Hence, we conclude that there is no significant difference between the means off

group A and group B.




THE CALCULATION OF TWO MEANS TEST

CONTROL GROUP (1-3) EXPERIMENTAL GROUP (I-8)
No.
XA A xB xB
1 5,9 34,81 6,3 39,69
2 7.4 54,76 6.8 46,24
3. 50 25 89 7921
4, 6,6 43,56 7.5 56,25
5 5.1 26,01 74 54,76
6 7.6 57,76 5.8 33,64
7 8.4 70,56 7.1 50,41
8. 57 32,49 89 7921
9, 2 67.24 9.2 84,64
10, 6,0 36,00 8.4 70,56
11 6,0 36.00 73 532,29
12, 5.9 34,81 5.3 28,09
13 5,7 44,89 5.4 29,16
14, 7.0 10 , 7.1 50,41
15, 6.4 40 ! 5.0 25
16. 5.8 33,64 | 5.1 26,01
17. 55 30,25 5.1 26,01
18 5,0 25 6.0 36
L 19, 7.1 50,41 4,1 16,81
20. 73 52.29 58 ‘ 364 |
21, 6,3 33,69 8.4 ' 70,56
22. 7.4 54,76 75 5776
23 7.4 54.76 RS 744
24, 47 22.09 4.3 18,40 |
25. 5.6 ! 31.36 Ad 11.56
26. 6,1 37.21 4.2 17,64
27. 8.4 [ 70.56 ‘ 7.5 36,25
28, 54 { 20,16 &3 i 3069
29. 3.8 7744 5.8 33,64
30. 55 30,25 5.1 26.01
31 7.7 59,29 i 3.3 28.09
32, 6,1 37,21 ' 5.7 44,89
33. 5.9 34,81 8.8 16,24
34. 76 57.76 6.2 38,44
33, 5.1 26,01 1,7 22,09
36. 7.0 490 7.3 53,29
37. 5.7 32,49 4.1 16,81
38. 3.1 65,61 43 18,49
30, 6.2 38,44 70 49
40, 6,1 47,21 6.4 40,96
TOTAL 259,7 173155 | 2527 1686,37
n 40 40
Mean 6.4925 i ; 6,3175
SD 1,0795 ! 1.5186




TEST OF HYPOTHESES :

1.

Ho : mA = mDB, there is no difference between the means of groups.
Ha : mA = mB, there 1s a significant difference between the means of groups.
t-test, where df.f =nA +nB -2=78

£ (.05/2) = + 2,000
Calculation for t-observation (to) :

A : Class I-3 (Control Group)

B : Class I-8 (Experimental Group)

- )X
x:;:6,3175 ;n=40
n

(S (S )
\fnz"\ (Zx) ~1,5186

\

nin—1)

xA4A—xB
fo = *Tf s - - ’
ind-18"4d+{nB-18"°8 $’ L+
\’ nd+nB -2 4
Conclusion:

= 0,5940
A

Because / t observation / (to) = 0,5940 <1(.05/2)

so Ho is accepted.

Hence, we conclude that there is no significant difference between the means off

group A and group B.



THE CALCULATION OF TWO MEANS TEST

TRY OUT GROUP (i-5) EXPERIMENTAL GROUP (I-8) i
No.
XA A xB B
1. 6,1 37,21 6.3 39,69
2. 6,0 36,00 6.8 46,24
3. 6.8 45,24 8.9 79,21
q 74 54,76 75 56,25
5. 5.4 29,16 74 54,76
6. 7.1 50,41 5.8 33,64
7 i 8,5 72,25 7.1 50.41
8. 8.8 77,44 8,9 79,21
9, 4,1 16,81 9.2 84,64
10. 6,6 43,56 8.4 70,56
11, 7.0 49,00 7.3 5320
D 52 27,04 53 28,00
13, 6,2 38,44 5.4 29,16
14, 6,7 44,89 71 50,41
15. 83 68,89 5.0 25
16. 2,5 6.25 5,1 26,01
17. 7.1 50,41 5.1 26,01
18. 6,6 43,56 6.0 36
19, 5.8 33,64 4. 1681 |
20. 7.0 49,00 5.8 33,64 i
21 6,5 42,25 8.4 70,56
2. 60 36,00 ~ 7.6 57,76
23. 3 77.44 8.8 774
24, 38 1 144 43 18.49 (
2. 169 47,61 3 11,56 g
26, 8,0 64.00 472 17,04 |
27 | 8R 77.44 7S i 382s 1‘
28, 6.3 45,24 6.3 | 39.69 )
29, 45 20,23 5.8 33,64 i
30. 7.5 56,25 5.1 26,01 |
31. 8,7 75,69 5.3 28,00
32| 5.4 29,16 6,7 44,89
33 4,7 22,09 6.8 46,24
3. |83 68,89 6.2 38,44
35 ! 7.6 57,76 47 22,09
36. 8.7 75,69 73 53,29
37. 76 57,76 41 16,81
38, 7.9 62,41 43 18,49
39, 6,5 42,25 7.0 49
40. 8.1 65,61 6.4 40,96
TOTAL 2703 191419 232.7 1686,37
n 40 40
Mean 67575 ; 6,3175
SD 1,4990 1,5186




TEST OF HYPOTHESES :

1. Ho : mA = mB, there is no difference between the means of groups.

Ha : mA + mB, there is a significant difference between the means of groups.
t-test, where df f =nA +nB -2 =78

ta

1 (.05/2) =+ 2,000
3. Calculation for t-observation (to} :

A Class -5 (Try Out Group)

RSN
S= /”Z"/ (Z") - 1,4990
\, man—1]

B _: Class I-8 (Experimental Group)

x:'Zf:asns ‘n =40

7

-
1

g = (] ~1,5186

S=. .S
V' oain-1)
P -~ = 1,3041
Hnd=118"4+n3 -1S*B( 1 1
| B
\f ni-nbB -2 \nd nB )

4. Conclusion:
Because / t observation ' (to) = 1,3041 <t(.05/2)
$0 Ho is accepted.
Hence, we conclude that there is no significant difference between the means off

group A and group B.





